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Re:  Pension Tax Reform

Ladies and Gentlemen:

About eight years ago, I wrote a letter to the Senate Finance Committee and the House Ways and Means Committee concerning reform of tax law for retirement plans.  No response has ever been received.  I hope this is received with sincere consideration.  Thank you.

I will use an example to make my point.

Assume that we have three taxpayers, each of whom is working, and each of who earn $80,000 in calendar year 2005, and each is under age 50.

Taxpayer number one (#1) is self-employed, and has a 1-person 401(k) plan set up for his business.  #1 is considered both the employer and the employee.  Through that 401(k), #1 can contribute a total of $28,870 - employee ($14,000) + employer ($14,870) contributions.  #1 can also put $4,000 into a Roth IRA.  That gives #1 a total of $32,870 going into retirement plans.

Taxpayer number two (#2) is an employee, and works for a company that offers a regular 401(k) plan.  #2 can contribute $14,000 to the 401(k), and there may also be contributions to #2’s plan from the employer.  #2 can also put $4,000 into a Roth IRA.  That gives #2 a total of $18,000 going into retirement plans (not including anything that may be contributed by #2’s employer).

Taxpayer number three (#3) is also an employee, and works for a company that does not happen to offer any pension plan.  #3 can contribute $4,000 into a Traditional (or Roth) IRA.  That gives #3 a total of $4,000 going into retirement plans.

In summary, we have three equal taxpayers (equal in income), but vastly different amounts allowed to be put into some kind of tax-deferred retirement plans.  In summary:

· #1 sets aside for retirement $32,870

· #2 sets aside for retirement $18,000

· #3 sets aside for retirement $4,000

Where is there “justice” or “fairness” in these retirement plan(s) rules?  If #1 wanted to, a one-person defined benefit plan could increase allowable contributions to a much higher level.
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My recommendation would be that everyone would be able to do either a Traditional or Roth IRA, with the maximum contribution something like $20,000.  In addition, employers could choose to contribute up to the same amount.  The IRA’s could be carried from employer to employer, and there would be no need for “discrimination” rules, and the complexity of the whole subject would be gone.  The $20,000 could be then inflation adjusted in increments of $1,000, much like the annual gift tax exclusion is adjusted when inflation reaches the next $1,000 level.

[Note:  If a person set aside $20,000 each year (without anything from an employer) for just 25 years, they’d have an accumulation of $500,000 not considering earnings.  And if they earned at an average annual rate of just 4%, their $500,000 invested would be worth $833,000 at the end of the 25-year period.  That seems like enough to cap any tax breaks.  More than that per person (a married couple could double that amount) seems to favor the very wealthy.  And if an employer contributes also, then the amounts would obviously be even larger.]

Thanks for your consideration.

Very truly,

Thomas A Heiting, CPA

